1./ Wire of resistance ef 9Q Is
benht te form an ecuilateral
triangle. A cell is connected
bheitween any twe vertices,; then
the ratie the larger to smaller
currents through the branches is

&) 91 ) 821 @) 21 @) B2

2. An electric fan and a heater are
marked as 100W, 220 V and
1000W, 220 V respectively. The

ratio of theirresistanceis

a)10 b)100 c)1/10 d)1/100



B The temperature at which the
resistance of ceoncductor is thre®
times that at 0% is (TER of the

materal 8 0.008/Ce)

2)280K b) 323K ) 280K d) 2300K

4. If one million electrons pass
through a section of a wire in
one microsecond, the resulting
current in the wireis

b) 1072 A
d) 0.16 pA




5. A cell supplies a current of
0.9 A through a 2Q resistor and
current of 0.3 A througha 7 Q

resistor. Theninternal resistance
of the cellis

a)0.50 b)1Q ¢)1.2Q d)20Q

3 A el Is embeclklad Ih a blodk @f e
pleced In an Insuletael 17 a
cUrrent of 1 A is passee (areugn 4ne
collfbyiapplyingiaipotential
clificreanee af 170 V acreoss Iy Gne
ammeunt of ee melied Ih one heur is
(Bicey= Q)

a) 18ky b)08lky @) 2ky d) 1 kg



7o A cepper Wire ol lenglih 80 cm
aRC area of crosssection 10Cme
carfes a current @f 1 A U7 the

resistivity et ceopper is
VB2 10° Q my the clectrie
lelcd acress the wire is

a) 0,09 Vim? b)) 0.0018 Va1
@) 0,018 Vi1 @) 0,009 Vi

8./ current of 2/ passes through &
cepper veltameten I {he @.c.®. e
cepper is &.8 1 10-4gc~1 the time
talzen (e depesit 1 gram ef cepper is
nearly ecueal ¢®

8) 20 min b) 25 min &) 30 min ) &5 min



9. The masses of three copper wires
are In the ratio 5:3:1 and theirlengths
are in the ratio 1:3:5. The ratio of

their electrical resistancesis

c) 1:15:125 d) 125:15:1

10, The eifiective resistance off a thred
resisteors connectec m parallel is x
ohm. When ene of the resisteors s
remeovedy; he effieciive resistancs
beceomes v ohi. The resistance of the
resister that s remeved Is

a) Xy b) xy e)((y=x) c) xy
(x#y)  (V=x)



11. A strip of copper (Cu) and
another germanium (Ge) are
cooled from room temperature
to 80K. Then conductance of

a) Each of these decreases

b) Each of these increases

c) Cu decreases and that of Ge

Increases

d) Cu increases and that of Ge

decreases

12. A carbonresistor has a
resistance of2k QO Then

colour of 3'9 band is

a) Orange b) Red c) Brown
b) Yellow




In the given circuit, current
through 4Q is

a)5.5A b)6A c)4A d)11A

In the given circuit, effective

resistance between A and B is

a)25Q b)20Q c)40Q d)5Q




15.Six resistors each of resistance
R are connected as shown.
Effective resistance between A

a)R/2 b)R c)2R d)3R/2

16. [ the resisiiivity e the
material of a cube eff side
0:5m I8 1.2 31X 1086 M Then
resistancs between its eppesite
faceslis

a)1200 ) 0.6 pQ
e) 2.4pQ d)0.3pQ



17- Im the given circult curremt
through 1.5Q at steacy
state is

18s 17 the racius off & wire carrving
current is deubled, the eriit
velecly off the electrons will b@
a) Uncharged ) halvVeelx
@) en® feourdh @) four times



19 Wire ef resistance ef 1280 is cut
Inte n lcdentcal paris. Iff the
efffective resistance off (he cirecut
fermed by parts in parallel is 0.2Q,
then m s

a)d b)6 @) cl) &4}

20s 17 paCle acreoss a concducter having
a material off spechiec resistance
» maihns constant, them heat
devalepaed In the concucter Is
prepereenal te®
a)l bD)p2 )1l p d)4dlp



